The computation of total Szeged index of $TUC_4C_8(\mathbf{R})$ nanotube

A. MAHMIANI, O. KHORMALI^{a,*}, A. IRANMANESH^b, M. YOUSEFIDAZ^c

University of Payame Noor, Gonbade Kavoos, Iran

^aMathematics and Informatics Research Group, ACECR, Tarbiat Modares University, P. O. Box: 14115-343, Tehran, Iran ^bDepartment of Mathematice, Tarbiat Modares Universiry, P. O. Box: 14115-137, Tehran, Iran ^cIslamic Azad University Aliabad katool branch, Aliabad katool, Iran

The total version of Szeged index was introduced very recently in 2010. In this paper, at first we compute the total Szeged index for hexagonal chains. Finally, the total Szeged index of $TUC_{,C_{o}}(R)$ nanotubes is computed.

(Received October 30, 2010; accepted November 29, 2010)

Keywords: Vertex-Szeged index, Edge-Szeged index, Total Szeged index, Molecular graph, $TUC_{s}(R)$ nanotube

1. Introduction

Let *G* be a simple molecular graph without directed and multiple edges and without loops. The graph *G* consists of the set of vertices V(G) and the set of edges E(G). In molecular graph, each vertex represented an atom of the molecule and bonds between atoms are represented by edges between corresponding vertices. The first topological index was Wiener index which is

$$W(G) = W_{v}(G) = \sum_{\{x, y\} \subseteq V(G)} d(x, y)$$
(1)

where d(x, y) is the distance between to vertices x and y [1]. Numerous articles were published in the chemical and mathematical literature, devoted to the Wiener index and various methods for its calculation [2-5].

Another topological index was introduced by Gutman and called the Szeged index, abbreviated as Sz [6]. The Szeged index is a modification of Wiener index to cyclic molecules. This was the vertex version of Sz index which had been defined as

$$Sz_{v}(G) = \sum_{e=uv \in E(G)} n_{e}(u).n_{e}(v)$$
⁽²⁾

where $n_e(u)$ is the number of vertices of G which are closer to u than to v and $n_e(v)$ is the number of vertices of G which are closer to v than to u. In [7-9], you can find computations of this index for some graphs.

The edge version of Szeged index introduced by Gutman and Ashrafi [10] that it is defined as

$$Sz_e(G) = \sum_{e=uv \in E(G)} m_e(u).m_e(v)$$
(3)

where $m_e(u)$ is the number of edges of G which are closer to u than to v and $m_e(v)$ is the number of edges of G which are closer to v than to u. In [11-13], you can find computations of this index for some graphs.

The total version of Szeged index was introduced very recently in [14] and it is

$$Sz_T(G) = \sum_{e=uv \in E(G)} t_e(u) \cdot t_e(v)$$
(4)

where $t_e(u)$ is the number of vertices and edges of G which are closer to u than to v and $t_e(v)$ is the number of vertices and edges of G which are closer to v than to u. Also $t_e(u) = n_e(u) + m_e(u)$ and $t_e(v) = n_e(v) + m_e(v)$.

In the rest of this paper, we compute the total Szeged index for hexagonal chains and $TUC_4C_8(R)$ nanotubes.

2. Discussion and results

Now, according to the definition of total Szeged index, we are ready to compute it for hexagonal chains L_h and H_h with h hexagons. A hexagonal chain G with h rings has |V(G)| = n = 4h + 2 vertices and |E(G)| = m = 5h + 1 edges. In Fig. 1, the hexagonal chains L_6 and H_h are depicted.



Fig. 1. The hexagonal chains L_6 and H_h .

Theorem 2-1. The total Szeged index of linear hexagonal chain with h hexagon, L_h , is

$$S_{Z_T}(L_h) = 2h(27h^2 + 90h + 23) + (h+1)(4h+1)^2$$

Proof. According to the Fig. 1, there are two types of edges, vertical and oblique edges. We consider these edges separately.

If
$$e = uv$$
 is a vertical edge, then we have
 $t_e(u) = n_e(u) + m_e(u) = 2h + (2h+1) = 4h + 1$
 $t_e(v) = n_e(v) + m_e(v) = 2h + (2h+1) = 4h + 1$

Therefore $t_e(u) \times t_e(v) = (4h+1)^2$. If e = uv is an oblique edge, then we have

$$\begin{split} t_e(u) &= n_e(u) + m_e(u) = (4i+3) + (5i+2) = 9i+5\\ t_e(v) &= n_e(v) + m_e(v) = (5h-5i+2) + (4h-4i+3)\\ &= 9h-9i+5 \end{split}$$

Therefore $t_e(u) \times t_e(v) = (9h - 9i + 5).(9i + 5)$ Then,

$$Sz_T(L_h) = \sum_{i=0}^n 4(9h - 9i + 5) \cdot (9i + 5) + (h+1)(4h+1)^2$$
$$= 2h(27h^2 + 90h + 23) + (h+1)(4h+1)^2.$$

Before computing the total Szeged index of hexagonal chain helicene H_h , $h \ge 3$, we introduce the set A which we use it for computation.



Fig. 2. The hexagonal chain helicene H_h .

The set A is the edges of e_i and the edges which are parallel with e_i in the Fig. 2 and $3 \le i \le h$.

Theorem 2-2. The total Szeged index of helicene H_h with h hexagon is

$$Sz_{\tau}(L_{h}) = h(27h^{2} + 90h + 23) + (81h - 81)(5h - 3)$$

Proof. According to the Fig. 1, we consider two types of edges, edges of set A and other edges. We consider these edges separately.

If e = uv is an edges of set A, then we have

$$t_e(u) = n_e(u) + m_e(u) = (4i+3) + (5i+2) = 9i+5$$

$$t_e(v) = n_e(v) + m_e(v) = (5h - 5i + 2) + (4h - 4i + 3)$$

= 9h - 9i + 5

Therefore $t_e(u) \times t_e(v) = (9h - 9i + 5).(9i + 5)$

If uv = e is an edge which is not in set A, then we have

$$t_e(u) = n_e(u) + m_e(u) = 5 + 4 = 9$$

$$t_e(v) = n_e(v) + m_e(v) = (4h-3) + (5h-6) = 9h-9$$

Therefore $t_e(u) \times t_e(v) = 81h - 81$. Then,

$$Sz_T(H_h) = \sum_{i=0}^{h} 2(9h - 9i + 5) \cdot (9i + 5) + (81h - 81)(5h - 3)$$
$$= h(27h^2 + 90h + 23) + (81h - 81)(5h - 3).$$

Now, we compute the total Szeged index of $TUC_4C_8(R)$ nanotubes. In Fig. 3, the $TUC_4C_8(R)$ nanotube is shown.



Fig. 3. Two dimensional lattice of $TUC_4C_8(R)$ *nanotube,* k = 4, p = 8.

According to Fig. 3, k is the number of rows of rhombus and p is the number of rhombus in a row (that p indicates the number of columns of rhombus in Figure 3). Therefore, we indicate the rhombus which located in $i-th \ row \ and \ j-th \ column$ with S_{ij} . Also, we have |V(G)| = 4pk. We show the molecular graph of $TUC_4C_8(R)$ nanotube with G in following computation.

Lemma 2-3. Let $uv = e \in E(G)$ be the vertical edge of G between rows i and i+1, $1 \le i \le k-1$. Then we have:

and

and

$$t_e(u) = 10 pi - p$$

$$t_e(v) = 10p(k-i) - p.$$

Proof. According to the Fig. 3, we have

$$t_e(u) = n_e(u) + m_e(u) = 4pi + (5pi + p(i-1))$$

-i-1)).

$$t_e(v) = n_e(v) + m_e(v) = 4p(k-i) + (5p(k-i)) + p(k-i)$$

 $=10 \, pi - p$

$$=10p(k-i)-p$$

Lemma 2-4. Let $uv = e \in E(G)$ be the horizontal edge of G in row $i, 1 \le i \le k$. Then we have:

If p is even:

$$t_e(u) = t_e(v) = 5 pk - \frac{p}{2} - k$$

If p is odd:

$$t_e(u) = t_e(v) = 5 pk - \frac{p+1}{2} - 2k$$

Proof. Let $uv = e \in E(G)$ be the horizontal edge of G in row $i, 1 \le i \le k$. According to the Fig. 3, we have If p is even:

The number of edges and vertices which are in the equidistance with edge e if 2k. Therefore according to |E(G)| = 10 pk - p, we have

$$t_e(u) = t_e(v) = \frac{|E(G)| - 2k}{2} = 5pk - k - \frac{p}{2}$$

If p is odd:

The number of edges and vertices which are in the equidistance with edge e if 4k - 1. Therefore according to |E(G)| = 10 pk - p, we have

$$t_e(u) = t_e(v) = \frac{|E(G)| - 4k + 1}{2} = 5pk - k - \frac{p+1}{2}$$

Lemma 2-5. Let $uv = e \in E(G)$ be the oblique edge of G in row $m, 1 \le m \le k$. Then we have:

If p is even:

$$\begin{cases} 10km - \frac{p}{2} - 9k + 5kp - 5k^2 & ,m \le \frac{p}{2} + 1 & q - m \le \frac{p}{2} \\ 5mp + 5m^2 - 9m + 5\frac{p^2}{4} - 5p & ,m \le \frac{p}{2} + 1 & q - m > \frac{p}{2} \end{cases}$$

$$\begin{cases} 10km - 5k^{2} + 5pk - 9k - 5m^{2} + 5mp + \\ 7m - 5\frac{p^{2}}{4} + 4p - 2 \\ 10mp - 2m - \frac{p}{2} - 2 \\ \end{cases}, m > \frac{p}{2} + 1 \& q - m > \frac{p}{2} \end{cases}$$

and

$$t_{e}(v) = \begin{cases} 5kp - 10km - \frac{p}{2} + 5k + 5k^{2} & ,m \le \frac{p}{2} + 1 & q - m \le \frac{p}{2} \\ 10pk - 5mp - 5m^{2} + 5m - 5\frac{p^{2}}{4} + 2p & ,m \le \frac{p}{2} + 1 & q - m > \frac{p}{2} \\ 5k^{2} - 10km + 5pk + 5k + 5m^{2} - 5mp - \\ 5m + 5\frac{p^{2}}{4} + 2p & ,m > \frac{p}{2} + 1 & q - m \le \frac{p}{2} \\ \frac{p}{2}(20k - 20m + 9) & ,m > \frac{p}{2} + 1 & q - m > \frac{p}{2} \end{cases}$$

If p is odd:

$$t_{e}(u) = \begin{cases} 10km - \frac{p}{2} - 8k + 5kp - 5k^{2} + \frac{1}{2} & ,m \le \frac{p+1}{2} \& q - m \le \frac{p-1}{2} \\ 5mp + 5m^{2} - 8m + 5\frac{p^{2}}{4} - 9\frac{p}{2} + \frac{13}{4} & ,m \le \frac{p+1}{2} \& q - m > \frac{p-1}{2} \\ 10km - 5k^{2} + 5pk - 8k - 5m^{2} + 5mp + \\ 7m - 5\frac{p^{2}}{4} - 4p - \frac{7}{4} & ,m > \frac{p+1}{2} \& q - m \le \frac{p-1}{2} \\ 10mp - 8p - m + 1 & ,m > \frac{p+1}{2} \& q - m > \frac{p-1}{2} \end{cases}$$

and

$$t_{e}(v) = \begin{cases} 5kp - 10km - \frac{p}{2} + 4k + 5k^{2} + \frac{1}{2} & ,m \le \frac{p+1}{2} & \& q - m \le \frac{p-1}{2} \\ 10pk - 5mp - 5m^{2} + 4m - 5\frac{p^{2}}{4} + & \\ 3\frac{p}{2} - \frac{1}{4} & ,m \le \frac{p+1}{2} & \& q - m > \frac{p-1}{2} \\ 5k^{2} - 10km + 5pk + 4k + 5m^{2} - & \\ 5mp - 4m + 5\frac{p^{2}}{4} + 3\frac{p}{2} + \frac{5}{4} & ,m > \frac{p+1}{2} & \& q - m \le \frac{p-1}{2} \\ \frac{7p}{2} + 10kp - 10mp + \frac{1}{2} & ,m > \frac{p+1}{2} & \& q - m > \frac{p-1}{2} \end{cases}$$

Proof. We compute only $t_e(u)$ when p is even, because computation of $t_e(v)$ is similar to computation of $t_e(u)$, also the computations of $t_e(u)$ and $t_e(v)$ when p are odd and even is very similar to each other. By the Fig. 3, we have, if p is even:

$$n_{c}(u) = \begin{cases} (\frac{4p}{2} - 1)m + 2m(m-1) + (\frac{4p}{2} - 5)(k-m) - & , m \le \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ 2(k-m)(k-m-1) & & \\ (\frac{4p}{2} - 1)m + 2m(m-1) + (\frac{4p}{2} - 5)\frac{p}{2} - p(\frac{p}{2} - 1) & , m \le \frac{p}{2} + 1 & \& q - m < \frac{p}{2} \\ (\frac{4p}{2} - 1)(\frac{p}{2} + 1) + 2p(\frac{p}{2} + 1) + 4p(m - \frac{p}{2} + 1) + & , m > \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (\frac{4p}{2} - 1)(k-m) - 2(k-m)(k-m-1) & & \\ (\frac{4p}{2} - 1)(\frac{p}{2} + 1) + 2p(\frac{p}{2} + 1) + 4p(m - \frac{p}{2} + 1) + & \\ (\frac{4p}{2} - 5)\frac{p}{2} - p(\frac{p}{2} - 1) & , m > \frac{p}{2} + 1 & \& q - m > \frac{p}{2} \end{cases}$$

and

$$m_{\varepsilon}(u) = \begin{cases} (\frac{5p}{2} - 3) + (\frac{6p}{2} + 3)(m-1) + 3(m-1)(m-2) + & , m \le \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (\frac{6p}{2} - 9)(k-m) - 3(k-m)(k-m-1) & , m \le \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (\frac{5p}{2} - 3) + (\frac{6p}{2} + 3)(m-1) + 3(m-1)(m-2) + & , m \le \frac{p}{2} + 1 & \& q - m < \frac{p}{2} \\ (\frac{6p}{2} - 9)\frac{p}{2} - 3\frac{p}{2}(\frac{p}{2} - 1) & , m \ge \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (\frac{5p}{2} - 3) + (\frac{6p}{2} + 3)(\frac{p}{2}) + 3(\frac{p}{2} - 1)(\frac{p}{2} - 2) + & , m > \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(k-m) - & , m > \frac{p}{2} + 1 & \& q - m \le \frac{p}{2} \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 2) + & , m > \frac{p}{2} + 1 & \& q - m > \frac{p}{2} \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2}) - 3(\frac{p}{2})(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 3)(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) + (\frac{6p}{2} - 9)(\frac{p}{2} - 1) \\ (6p - 2)(m - \frac{p}{2} - 1) \\ (6p$$

According to the definition of total Szeged index, $t_e(u)$ and $t_e(v)$ can be concluded when p are even and odd.

For simplifying following computations, we use the following notations.

$$a_{1} = 10km - \frac{p}{2} - 9k + 5kp - 5k^{2}$$

$$a_{2} = 5mp + 5m^{2} - 9m + 5\frac{p^{2}}{4} - 5p$$

$$a_{3} = 10km - 5k^{2} + 5pk - 9k - 5m^{2} + 5mp + 7m - 5\frac{p^{2}}{4} + 4p - 2$$

$$a_{4} = 10mp - 2m - \frac{p}{2} - 2$$

$$\begin{split} b_1 &= 5kp - 10km - \frac{p}{2} + 5k + 5k^2 \\ b_2 &= 10\,pk - 5mp - 5m^2 + 5m - 5\frac{p^2}{4} + 2p \\ b_3 &= 5k^2 - 10km + 5\,pk + 5k + 5m^2 - 5mp - 5m + 5\frac{p^2}{4} + 2p \\ b_4 &= \frac{p}{2} \left(20k - 20m + 9 \right) \\ \text{and} \\ a_{1}' &= 10km - \frac{p}{2} - 8k + 5kp - 5k^2 + \frac{1}{2} \\ a_{2}' &= 5mp + 5m^2 - 8m + 5\frac{p^2}{4} - 9\frac{p}{2} + \frac{13}{4} \\ a_{3}' &= 10km - 5k^2 + 5pk - 8k - 5m^2 + 5mp + 7m - 5\frac{p^2}{4} - 4p - \frac{7}{4} \\ a_{4}' &= 10mp - 8p - m + 1 \\ b_{1}' &= 5kp - 10km - \frac{p}{2} + 4k + 5k^2 + \frac{1}{2} \\ b_{2}' &= 10\,pk - 5mp - 5m^2 + 4m - 5\frac{p^2}{4} + 3\frac{p}{2} - \frac{1}{4} \\ b_{3}' &= 5k^2 - 10km + 5\,pk + 4k + 5m^2 - 5mp - 4m + 5\frac{p^2}{4} + 3\frac{p}{2} + \frac{5}{4} \\ b_{4}' &= \frac{7p}{2} + 10kp - 10mp + \frac{1}{2} \end{split}$$

Now, we are ready to state the total Szeged index of $TUC_4C_8(S)$ nanotube.

Theorem 2-6. The total Szeged index of $TUC_4C_8(S)$ nanotube is

If p is even:

$$\begin{cases} \sum_{m=1}^{q} 2pa_{1}b_{1} + \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + , q \leq \frac{p}{2} + 1 \\ pq(5pq - \frac{p}{2} - q)^{2} \\ \\ \frac{p}{2} + 1 \\ \sum_{m=1}^{q} 2pa_{2}b_{2} + \sum_{m=\frac{p}{2}+2}^{q} 2pa_{3}b_{3} + , \\ Sz_{T}(G) = \begin{cases} \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + pq(5pq - \frac{p}{2} - q)^{2} \\ \\ \frac{p}{2} + 1 \\ \sum_{m=1}^{q} 2pa_{2}b_{2} + \sum_{m=\frac{p}{2}+2}^{q} 2pa_{4}b_{4} + \sum_{m=q-\frac{p}{2}+2}^{q} 2pa_{3}b_{3} + , \\ \\ \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + pq(5pq - \frac{p}{2} - q)^{2} \end{cases} , q > p + 2$$

If p is odd:

$$Sz_{\tau}(G) = \begin{cases} \sum_{m=1}^{q} 2pa'_{1}b'_{1} + \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + , q \leq \frac{p+1}{2} \\ pq(5pq - \frac{p+1}{2} - 2q)^{2} \\ \frac{p^{+1}}{2} 2pa'_{2}b'_{2} + \sum_{m=\frac{p+1}{2}+1}^{q} 2pa'_{3}b'_{3} + \\ \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + pq(5pq - \frac{p+1}{2} - 2q)^{2} \\ \frac{p^{+1}}{2} 2pa'_{2}b'_{2} + \sum_{m=\frac{p+1}{2}+1}^{q-\frac{p+1}{2}} 2pa'_{4}b'_{4} + \sum_{m=q-\frac{p+1}{2}+1}^{q} 2pa'_{3}b'_{3} + , q > p+1 \\ \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + pq(5pq - \frac{p+1}{2} - 2q)^{2} \\ \frac{p^{3}}{3}(q-1)(50q^{2}+20q+3) + pq(5pq - \frac{p+1}{2} - 2q)^{2} \end{cases}$$

Proof. By the Lemmas (2-3) and (2-4), we have

$$\sum_{\substack{e=uv \in E(G)\\and e \text{ is vertical edge}}} \left[t_e(u) \times t_e(v)\right] = \frac{p^3}{3}(q-1)(50q^2+20q+3)$$

and

If p is even:

$$\sum_{\substack{t=uv \in E(G)\\ \text{net } e \text{ is horizontal edge}}} \left[t_e(u) \times t_e(v)\right] = pq(5pq - \frac{p}{2} - q)^2$$

If p is odd:

$$\sum_{\substack{e=w \in E(G)\\and e \text{ is horizontal edge}}} \left[t_e(u) \times t_e(v)\right] = pq(5pq - \frac{p+1}{2} - 2q)^2$$

Also, by the Lemma (2-5) and notation a_i , b_i , a'_i and b'_i , where $1 \le i \le 4$, the desire result can be concluded.

3. Conclusion

In this paper, we compute the total Szeged index of hexagonal chains and in particular the total Szeged index of $TUC_4C_8(R)$ nanotubes by concluding some techniques which are in graph theory.

References

- [1] H. Wiener, J. Amer. Chem. Soc. 69, 17 (1947).
- [2] A. Mahmiani, O. Khormali, A. Iranmanesh, A. Ahmadi, Optoelectron. Adv. Mater.-Rapid Commun., 4(2), 256 (2010).
- [3] A. Mahmiani, O. Khormali, A. Iranmanesh, Optoelectron. Adv. Mater.-Rapid Commun., 4(2), 252 (2010).
- [4] P. V. Khadikar, P. P. Kale, N. V. Deshpande, S. Karmarkar, V. K. Agrawal, J. Math. Chem., 29, 143 (2001).
- [5] A. Iranmanesh, A. Soltani, O. Khormali, Optoelectron. Adv. Mater.-Rapid Commun., 4(2), 242 (2010).
- [6] I. Gutman, Graph theory notes, New York, 27, 1994.
- [7] A. Iranmanesh, O. Khormali, J. Comput. Theor. Nanosci., 6, 1670 (2009).
- [8] A. Iranmanesh, Y. Pakravesh, Journal of applied sciences, 7(23), 3606 (2007).
- [9] A. Iranmanesh B. Soleimani, A. Ahmadi, J. Comput. Theor. Nanosci., 4(1), 147 (2007).
- [10] I. Gutman, A. R. Ashrafi, Croat. Chem. Acta, 81(2), 263 (2008).
- [11] Z. Bagheri, A. Mahmiani, O. Khormali, Iranian Journal of Mathematical Sciences and Informatics, 3(1), 31 (2008).
- [12] A. Iranmanesh, Y. Pakravesh, A. Mahmiani, Utilitas Mathematica, 77, 65 (2008).
- [13] A. Mahmini, A. Iranmanesh, MATCH Communications in Mathematical and in Computer Chemistry, 62(2), 397 (2009).
- [14] A. Mahmiani, O. Khormali, A. Iranmanesh, M. Yousefidaz, Submitted.

^{*}Corresponding author: o_khormali@modares.ac.ir